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1-1

1-2



1-4

1-3C

1-7

1/3

1-1B

1-3



8B

0.5—1.0%

2%



1 ether

15—20min
0.1—0.3mg/kg
2 pentobarbital sodium
5%
2—4h
1/5 1—2h
3 pentothal sodium
2.5—5%
1.5h
4 ethyl carbamate
20—25%
5 chloralose 1%
3—i4h
1-1
1
1-11

1-1



(mg/kg
) (h)

30

40
50— 100

1000
1000
20— 25 1000 2—4
1250
2000

60— 80
1 60—80 | 3—4
80— 100

15—25
25—5 10—20 [05—15

80— 100
10 100—150| 24— 72
300

1-12

1-13



1-14

45°

0.25—0.1ml
3
50%

5-10ml
5% CO,  60%0,

1-15

60°



1-16

1-17

1-17

1-17

1-18
Imm

1-19



1-20 1-21

1-22 1-23

5-7¢cm 10cm
2.5-4cm

2cm

4-17



4
8-10cm
2-3cm
8-10cm
5
4-5¢cm
1-24
1
1
3mm 4-6
6-7
20-25ml 6-7ml
2

15ml



2
1
209 0.6ml
300g aml
2 45
—50
1—2mm 5—10mm
6%
1_
25 0.3—0.5 ml — 3
3
3 7-10cm
0.6 mm 0.3mm
1-26
4—5mm
1%
0.2ml 0.5ml
3
1-12

10—20ml



1-27

1-28

20—40ml 80—150ml

3—5min

1-29



M A mA

us

1000 /s

200V

Ims

.5ms

1-30

10V
40—50mV

60—100 /s

1-30



1-31

Galvani
Galvani Galvani 1-32
Zn
Cu
Zn Cu
Zn-Cu
Zn - - Cu
Zn Cu
1—33
nonpolarizable electrode 1—33(C)

Zn

Cu-12Zn

Zn



Cl-
Ag- AgCl=Ag+Cl-+Ag*
Cl- Ag
- AgClI
AgCl
AgCl
0.1mol/LHCI
3
AgC I 1] ”
1
GG-17  GG-95
—2mm 2/3
250ml 1—2h
10min
2
0.5y m
1 34
3

3mol/L KCI

AgCl

AgCl
AgCl

1.5V
30s
AgCl

Hogg 1934

30min

3mol/L KCI

5ml

Ag-



KCl

KCl

4

10—50MQ

1

1—35
R—R,
z

0.5cm

KCI

15—30MQ

KCI

KCI

1.5cm

0.5u m

Wheatstone

R;=R,

Ry=R,

Ry

Ry



R=p 1/A
P | A

InR=Inp +Inl-1nA

171 AA
p/p

«

1—37

mv
VY



@

10—15kHz 0—10kHz
@)
0.001s 2s
0.1s
1-2
©))

Ku

Ku =

5-10mV/cm
50—100u V/cm
1-2
1—2
AC DC ()

AC 5 —100p V/iecm 001—0.1

AC ImV/cm 2

DC 5mV/cm 00

AC 05 1ImV/icm 0.1

AC 50— 100p Vicm 2

AC 0.5— ImV/cm 2

AC 0.01+

AC 100y V/em 0.03+

AC 100y V/em 0.3+

4)



100p V

®)

IMQ
0.5—1uym
10—20MQ
10000MQ



1—38

1—39

1—40
“ Un

1—41

1-42



€y
D
2)
3)
4)
5)
6)
7)
8)
9)
10)
11)
€
D
2)
3)
4)
5)

6)

¢y

€

®

4)



45

@

€)

®

1—43

1—44



2 SBR-1
€))
D

2)
3)
4)
€)

€)

20V/cm

8h

16

20mvV/cm

AC
DC

30min
55
3
120mV
AC
1—2

6cm

A-B
DC



1) 20V/cm
2)

3)
4)
)
/cm
5s/cm—1p s/cm 5s/cm
5s/cm
113 +” 113 _”
AC DC
DC
113 X ”
/cm
/cm 2
“ V/cm” X
“ V/cm”
X
100 /s 10ms

AC



K
2
XY
3
AlBl
Al AZ
Bl
1
1000
2

|z

AsB,

1-48

1—47

ABy



€y

¢

€)

4)

Basic Fortran

A/D



2-1

€y

€

A/D

D/A



@

N

15—20min

2/3

2-3



2-4

2-5

180°
173

2mm

1/3

2-6



N

2-7

2-8

2-1
2-1

5mm

mm




10

2-11

30 /s

100mm/s

3-5cm

2-9



2
1 3 -
2cm 20mm/s
2-12

2 1s

3 0.16s

4 10mm/s 2 /s
—b5s

5 6 /s

6 10 /s

7 20 /s

8 25 /s

1/2

30s 5s

1

2



SBR-1

2%

5min

Lapicque

Ag-Agcl
1
“ " 10—20 /s
“ ” 1000
30ms
Aa
Aa
1.25 1.5 1.75 2 3 5 10
2 2



13
5 - 2%

2-2

2min

Bmin



1
0—5v
2

Imm/cm

3

SBR-1

2-14

0.1—0.2ms
“ AC” “ AB”
[13 ” [13 ACH

2-15

3mol/LKCI

3mol/LKCI

2—4 /s

1—3mV/cm



3—29u m
35—40m/s
7
6
2-14
A B
7
7
S
v=s/t(m/s
9

20ms



10

1y m

Ag-AgCl lcm

20ms



3mol/LKCI
10—20MQ
2 -
1.2—1.5
3
1
2
Ag Agcl
3 2 16
20mvV/cm
0.5—2s/cm
4
5
6
1
2

1] ” 1] ” O . 1_0 . 2mS

KCI

] DCH “

2-17

K+



11

1
2
Ca2*
platepotential MEPP
end PlatePotential EPP
10 5% 10-8mol/L
1 2 -
5min
2 10
0.1 0.2ms “ DC”
" 10—20mV/cm 5ms/cm
3
-90mv
0.5—1ImV/cm
4
5 5x 10-%mol/L
2-18

minuteend

40mv

d-tubo-curarine



Iml

2—3mm

12

40—50%
70%
1.2¢ 0.8g 40%
100ml 0.1ml
3 1
3/4
3000 /min Bmin
mm
% = MM, 100
+ mm

13

15%



anyeHkKoB

mm

0—15mm/h
6—12mm/h

Westergren
5—10mm/h

1 0—2100mm
0" K" 50mm “op”

Imm

2 S% “ P

4 11 Kn

14

NaCl

0—20mm/h

S%

S%

0.15ml

NaCl

M

113 Kn



3% 2ml 5ml 10 5ml

3.8% 1%  2%NaCl
1.3% 2ml 3.8% 0.2ml
3000 /min 5
3%
2 10 1—10 3
NaCl
3 110 Nacl
1 2 3 4 5 6 7 8 9 10
1%Nacl(ml) 121 14| 16| 18| 20| 22| 26| 36 | 40
2%Nacl(ml) 4.0
(ml) 28| 26| 24| 22| 20| 18| 14| 04
(%) [030[035|040|045|050|055|060| 09| 1.0| 20

3 3% 1—2

0.35—0.30%NaCl

0.45%NaCl
6

3% 5ml 4 2ml 5 0.9%NaCl
0.1mol/LHCI 0.1mol/LNaOH

1 4 3% 2ml

(1)0.9%NaCl1ml

2 0.2ml
(3)0.1mol/LHCI1ml
(4)0.1mol/LNaOH1ml

N



15

100ml

0.1mol/LHCI

100% 20mm3
2 0.1mol/LHCI
3
20mm3 0.02ml

10min

- 95%

16

100ml
14 _4g 13.1g

95%

100ml 14.5¢g
3-2
10



1mm3

Iml  5ml
95% 1%
1 iml 0.38ml
5ml 3.98ml
20mm3
20mm3
2
4
3-3
0.1mm
0.1mm 3mm 3mm 9
3-4 1mm3 0.1mm3
16
25 0.04mm3 0.004mm3
16
1-2min
3 2-3min
4
4 5
” 3-5
8
20
4
4 50 mm3
(¢)) 0.38ml 20mm3  1mI=1cm3=1000mm3 20mm3=0.02ml
20 20

(2) 4 1x 1x 0.1x



4=0.4mm3 mm?3 2.5 4
50 20x 2.5=50 mms3
5 10
000 mm3
(¢)) 3.98ml 20mm?3 0.02ml
200
2) 0.02mm? 1 0.2x 0.2x
0.1=0.004mm® 5
0.004x 5=0.02mm3 mms3
5 10 000 200x 50=10
000 mm3
1
95%
1%
2
1
1.5ml
1% 1ml
100ml
2
NaCl 0.5¢
Na,S0, 2.5¢9
HgCl, 0.25g
100ml
3-6
0.5 1
101
11
0.5 101 200
0.5 11 20



3min

0.8-1.2mm

17

2—3mm
5—10mm
18 ABO
ABO

ABO

1—2cm

37

2—7min

10cm



N

10—15min
B

19

4-1

4-2

AB



N

4-1

(

min)

4-2

20

4-3

19




4-6 4-7

20mm/s

21

19

QRS

4-4

QRS

4-5



1%KCI
300u/ml

1

€))
19

&)

Na*

K+

22

Ca2*

1 100000

2-3mm

5%NaCl

1 1000000

4-8

4-1 4-2

1.5—2cm

4-2

2%Cacl,



4-9

2
4-10
4-11

3

(@)

@) 2—6  5%NacCl

2—3
©)) 1 2%CaCls
0 1 2 1%KCl
@)
G @ 1—2 1 100000
®) (@ 1—2 1 1000000
4 4-2

4-2



309)

(mm)

Nar

Ca?t

K+

N

4-12

23

4-12

1%



10s

24

4-13

1% 2—3 5min

3—5min

10 /min 10V



3.8% 20%

300 /ml 1 10000 1 10000
1
(€H)
1 “oy 4-14
4-14
2)
100—120mm
)
4-15 -
A
B
B
B
13 ” A
100mmHg 50 “ §
2cm A
10s 0.5 1mm/s



€y
D

2)
¢
D

2)
4-16

4-17

1] T”

4-18

2cm

4-19

4-19A

20% 19/kg
5—7cm
2—3cm
4cm
3
3
3
300 /kg



4-198B

€y)
€) 10—15s
3)
4)

®)

(6) 0.2—0.3nl
) 0.2—0.3nl
®) 10s

4-3

(mmHg) (mmHg)
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4-20



1 5min

N

3 3cm
4-20

30mmHg

€y 5min
(2) 15min 5min
4-4

D
Imin

)

9 Imin 30
2min 30s

10

4 30—60s 4-4

22mmHg
4-4

11



(mmHg)

N

DX-2

DX-2



—3mm
2.5mm

—3mm

25%

8V
20—30mmHg
8v
Qv
300mmHg
26
1.9—2cm
1 1.3cm
4-21

1 10000

5mmHg/s

4 22
300

24

1.5mm

/ml

2.5

2.5



3.5—4ml/kg

4-23

1

2

1cm

¢y
)
®
4)
®)
(6)

25%
15min

3—4cm
2cm
2—2.5cm
4-24
1
1/3
1 10000
4-25
27



3
@

2
20mmHg
B 2%

N

20%

4-17

4-5

4-5

20ml
300u/ml

24

24

3—5min

2%



(mmHg) (mmHg)
(mmHg)
1
2
3
4
5
mmHg 6
7
8
1
2
3
4
5
6
7
8
28
1
2
7—8mm 3—4mm
2.5—3cm 2ml 20% 1 10000
1 100000 502
1 20%
3mg/g 4-26
2
€y

502



1cm

29

4-27
@
-28
1.5cm
3
1 2.5—3cm 3
a
4-6
4-6
4
5
1
2
1
2




5000ml
4-29

10ml Iml 5

1 1000000

1 4-29

20 /min

4-29

0.5min

4-7

1 10000
5000ml
15—25cmH,0
0.2ml
0.5min



1 2 314 1 2 4

(m_ ) (m__ )
(min) (ml (min) (ml )

1 1

3 3

5 5

10 10

15 15

20 20

30 30
7
1
2

30
1
2
CVP
20% 300u/ml
1
2 6cm
3cm
300  /kg



2min

3cm

2mm

31

Bmin

2mm

P QRS

T

3cm

9—10cm

I+



6 4-30

6 10min ImV
10mm

7 aVR aVL aVF
V, V3 Vs 9

8

9

10

11 “oo Vs P R T
P—R Q—T R—R

1 P—R

2 P—R Q—T
3 R—R

@
€

€)

) 0 avR  avlL
avF v 8 “ 0
(2) 3 13 ” 13 ” 13 ” 13 ”

®

)
5) “1 ‘172" ‘172"
“ 1" “1/2"
ImV 5mm



(6) 25mm/s  50mm/s 25mm/s
Q)
®)
€))
2
1
1mm 5mm
4-31
€D 25mm/s  50mm/s
25mm/s 0.04s 0.2s
@)
1mvV=10mm 10 1mm=0.1mV
1mV=20mm
ImV=5mm
2
@
4-32A
4-32B
@)
4-32C 4-32D
3
D) 30 0.2s 6s
R P 10
5 R—R P—P
S
_ 60
~ R—R PP ©
R—R P—P 4-8
R—R 1
2 @)
p Pavr
P—R >0.12s

p paVR



®

P—R 0.12s
4-8 R—R
1 211 2|11 2l 1 21 21 1 2
775 775 67 8935|56 107 45 133 | 34 176 23 261
77 78 66 91 | 55 109| 4 136 | 33 182 | 22 273
7% 79 |65 925| 54 111 | 43 139 | 32 187 | 21 286
75 80 64 94 | 53 113 42 143 | 31 193 | 20 300
74 81 63 95 | 52 115 41 146 | 30 200 19 316
73 82 62 97 (51 11758 40 150 | 29 207 18 333
72 83 [61 985| 50 120 39 14 | 28 214 17 353
71 845( 60 100 (49 1225 38 158 | 27 222 16 375
70 8 (59 1015| 48 125 37 162 | 26 230 15 400
69 87 | 58 103 |47 1275| 36 1665| 25 240 14 428
68 88 57 105 46 130 | 35 1715| 24 250 13 461
32
1
2
P QRS T
QRS Q
1
(¢))
2 1-19
20min




4)

®)
20min

@ 4

5cm
@)

€)
4)

1.5¢cm 1.5cm
Vi Vv 1.5cm  V;

Vs 1.5cm
Vl VS V5
(5)

€)) 31 1 5

(2) “ACT
ImV/cm

5min

6 25mm/s
50mm/s
7 5min 1mV
10mm 20mm

8 avR aVvL



avF6

4-33 4

11 31 2 P QRS

31 2

33

QRS

LMS-2A
15kQ 2

50

avF —>A—>Y1

avF 15kQ

P—R R

FS 2

19

A B

avF —>B—>Y2
4 34



0.08s

2s
1s/cm
3
4
X=Y
X
QRS
1
2
25—40
1

100Hz Y, Y,
1 25mm/s
XY, Y,
T T
XY
34
/s 0.12s
4 35

B
100mV/cm

avF

QRS
QRS

0 5mv/cm

50 /s



3mol/LKCI

35

5ml

8cm
Imm
100 m

2mm
3mol/LKCI

0.5 m 20M

20—30
5mm
3cm
3cm



29/kg

D

€

€))
0.2V/cm

4)

1—1.5cm

19

31

4-36
{3 1”

20mvV/cm " 1—0.2ms/cm

1mV:10mm 1] ” 1] ”

4-37

36



2
K+
K* Kt -
10—30MQ “ ” Ag-AgCl
1 4 38
2
95%0,+5%CO,
95%0,+5%C0, 8—10ml/min
35—36
3 -
Ag AgCl
0.5ml
4
0 50mV/cm
20mV/cm
60 /min 1—2ms 2
5
80—90mv
80—90mv 110mv
4-39 01 2 3 4

0 Vmax



6 + X+SD

RC
RC
0 V/s

37

(@) 10min
)
® S :

3/4
@ <



®)

(6)

@y

€

@

¢

0.1

0.5

0.1

0.5

“ O ) 1"

0.1Q

31

4-40

2cm



XLJ-74-3
4-41
30 /s wheatstone

@
)" " “ o “ "

“ 0.1 “ ” 0.1
“ 0.9 0.5Q o

(©)) . ” 10

@

O

® -

o 0.1
0.5Q

@ <
o

4-43



/s

@

)

€)

4)

43

1—2
hl
_ mm
mm
@)
c/h,
h,/a
38
TXL-77-1

()

95%

HB-1



37

2

4-44

1.5—2Kg

0.1Q

95%
1cm

37

5—6cm



39

1—2min

10—15s

1—2min

1—2min

1—2min

Co,

5-2



10
30cm 60 /min 2min
200

40

5mol/LNaCH
co,

Co, Co,

10ml 5mol/LNaCH

Ig
10ml NaOH 5%

50%

50% 0.2%

5-3B

3min



5 CO,
1 5mol/LNaCH 3ml

Co, NaOH NaOH
2ml NaOH
10 co,
NaOH
2 3min
NaOH
3
4 co,
co,
6 0, Co,
0, Co, 1
oml
5ml 2 3 4
0, 0, Co,
02
7 5%
3ml
1 co, O,
2

41

500ml



</PGN0121.TXT/PGN>

Co,

5-1

75%

500ml

2800ml

(mi)

(mo)

(mi)

(mi)

ml min

2—3
6

4500ml 2—3

1000ml



X /min= ml/min

42

N

Co,

24

20ml Iml Im 0.7¢cm
20%

2cm



20ml

Co,

20%

43

Im

0.7cm

20ml



Im 0.7cm



0.5mg/ml

44

o2
1 10000 1 100000
0.01% Imol/LNaOH 1mol/LHCI 1%BaCl,
6 1 0,
02
37 0,
3—4cm
02
37
S
02
20min
1 10000 2
1 100000 1—2
Imol/LHCI 1—2
1%BaCl, 2—3
Imol/LNaOH 1—2



6 0.01% 1—2

0.5mg/ml 3—4

45

20%
70%

77

1g/kg
6 2

70%

3—5mm



3-5cm

1—1.5mm

2—3mm

46



4cm
3.5cm

N

75%

6

PH
30min

20%

2/3

40ml

3.5 4cm

S%

19/kg

4—4.5cm

3.5



0.01%

PH

47
2-3mm 15cm
2nl  5ml 100ml
0.01mol/LNaOH 1% 3% 0.5mg/ml
350¢g 18-24h
30—50mg/kg
1.5cm
3cm
2cm
1cm
1cm
30min 5ml
2min 3 3

0.01mol/LNaOH
NaOH L x mol/LNaOH



g mol/L/2min
6
20s 30s
7

1mg/kg 5min

48

20%
Img/ml

A O DN P

1g/kg

1mg/Kkg

3cm

20min

0.5mg/ml

5s



g~ WD

20%

12

49

11

0.2—0.3mg

0.9cm

1—1._.5mm

Imm

5—10cm

1g/kg

502

0.5mg

1 1000

5cm



0.5mV/cm

N

6—12
2s 100Hz 1 2.5mm/s
2s 10Hz
1—2cm
38
1—2
50
1 10000

100000



0.5 1mV/cm 2S
15—30Hz 1—2.5mm/s
40ml .
30 40 /min

10—12cm
4 4 0.10—
0.15mm 0.1mm
3mm 2mm
« Ln

2 37—38

3 37 1 100000 1—4
37

4 2—3

5 1 100000 1—4

6 1 10000 1—4

4 5—10min
5 37

N



51

500ml
10%KOH
7—1
500ml
50
KOH
5ml
0
5ml
imlO,
5ml

52

5ml

5ml

3 5min

Co,

2x 10cm



10

@

&)

20

51

1000ml

18—22g

smg

1000ml

23



53

2ml
20% 20%
/ml 10%Na,S0, 1 10000

5 /ml

1 20% 1g/kg

2 4cm

@

2cm

8-1
/min
ml/min

)

1.5cm

20ml
100



€)) 38

2 20%
©)) 1 10000
4) 10%Na,S0,
®)

20—30S 40—50mmHg

(6) 2

8-1
8-1

0.5ml

30ml

20min

(min)

(%)

(mmHg)

(%)

20%

10%Na, S0,

54

40—50ml



20%

1 20% 1g/kg

2 4cm

8-2



10s

55

1%

2min

0.5%

0.5%

0.5%

2 3mm

1%

5

2%

2%

9-1

2min



55

56

0.5%

9-2

2min

57



@

€)
€)

4)
®)

9-3

7—10

58

9-4



20V

6—10V

59

9-6

9-5

2—3mm



9-8

60

9-7

9-7

25—30 /s

61

20%

1g/kg



9-9

9-10

62

60

20%



1 46c¢cm 16¢cm
23cm

9-11
9-12

2 10
40V

1 2min

3 180 /min

5s
2—3s
10—15s 1 2min
20 30 5min
9-1

9-1



(9

40 /min

63

180 /min

180 /min

15s



Imm
1% 10%

1 1% 10%
5ml/kg 0.5ml/kg

20 /min

1-18

3cm 38

100
100Hz 1s 50—100mV/cm
20—100ms/cm 1Hz 0.2ms
6 9-13

9-14
9-14
10ms
100ms
50ms



64

a 8—13 /s 20—100u
B 14—30 /s 5—20p V 0 4—7 /s 100—150p V
1—3.5 /s 20—200u V a
1—2s
“ "

75%

@

)
®

T=RC

4)
®)

(6)
Q)



®)

®
10—1000p

(10)
(1D

€y 9-15A

9-15B 9-15C

@)
5000Q

©)) “ ” 0.1—0.3s
7w /s - ” 50u V 3cm/s

“)

®) a -

(6) a

Q) ‘a

(®)

1 9-16
100 100Hz 0.3s



50mv/cm

5s

100—200ms/cm



65

10 1

66

10 2A



2 15cm

10 2B
3
4

67
1
2
5m 1.0 1.5mm

10 5m
10

2.5m 10 § =05

5
5m

1 5m

10
2
3



0.5m 10 * E”
0.5m 1 “F

68

10 3
360°

45° 4
10 4 8

69



50cm

10-5
ESSTHMAES WS SRERES (= 15mm)
ESEHRE I FHEE  PaEOHRAES (= 500mm)
= “ " X % mm
YT BEFEE  _ TESWRERES (*15mm)
ERESIREE VLI EHAIES (=500mm)

15
= X — mm
500

70

- 0.2mm



1s

1%

maxwel 1

2—1000ms

30min

71

20%

30min 1%

100—200u V/cm

30min

30min

4cm



10 6
2cm
1lcm
2 3
3
5 3
3
4
5 9cm?
2 10 7
1 1000 0.001s 10KHz 150Hz
—10kHz
2 0.2—0.5s/cm S X
20—100mV/cm
1 /s
20—100p V/cm
3 T /2
20mm/s  10mm/s
4 B /2.8
3 10 7
10 7
1g 5g 10g 20g
4
5
10-8A
6 1g 5g 10g

10 8B



8C

72

300—400g
Imm 0.5mm

20%

1 6ml/kg

1.5cm 0.5cm
Imm

10



0.1mm

2
—50u v/cm

10 9

1—2mm 1.5mm
0.5cm
0.5ml
10 10
1 2ms/cm 0.2ms
10cm

s lEE?EEE#ﬁ (£ 1.5mm)

10 11B

SIS ]Eam (HIMER<O tmm 05— Tmm)

10



10 12

73



G

2 10 13
1
1000 0.001s 10kHz
2 0.2—0.5s/cm
50mV/cm 5 /s
3 10 13
4
1 0.2—0.5s/cm
20mm/s
4s
2
10 14
3—5min
1
2
74
1



2kg

20% 300
/ml 3.8% 1 100000
1 100000
1 24
1lcm
38—40

2 10 15

1

113 ACH
ImV/cm 2
1000 0.001s

10—100kHz

3 [13 AC”

100mV/cm
X
X
3—4 3—4
0.1s/cm
4 2cm 3—4
B



2—3ml 300 /ml

10 16

0.5ml

10 16

0.5ml 0.2ml

10-16

1.50Hz

2mm






ESN OO R

75

iml 24 /ml
2
0.1m1/10g
30—37
0.1ml1/10g
18—24h
pH2.5—3.5
10mI0.1mol/LHCI 300ml
2.5—3.5
30—37
36—37
2 /ml 10% 500ml
A B A 200ml
200m110%

A

50%

500ml

0.5ml



2
76
3
5—10mm 25 1000ml 5
Immx 1mm
2%

1 5 5

1 50mi+

2 50ml+ + 0.59

3 50ml+ + 0.5¢

4 50ml+ + 20ml

5 50ml+ +
2

Immx 1mm
3 11-1
11-1
(m m)
(mm)
3 6 (9 (12 (15 (18 (21 (24 |27 |30

1




77

1
2
4 5
2—3mm
2—3
75%
3% 10%

1

1

6—7min 70% 70%
95% 815ml 1000ml
2min
2
70% 30min
5min
15—20 30min

2

1 4—5kg 30—50mg/kg

70% 3.5%
70%
2 4—6¢cm

11-1



N

11-2

11-3
20

10%

78

20

2—3ml

1%NaCl

75%



1 150g 20

75%
75% 10min
3cm
lcm

2—4mm

1 1
4 2 + 1%NacCl

79

20



w

2ml

Iml

90min

80

2

500ml

11



/ml

7—10d
3d
10d
02
Ca2*

11

1cm

250 9

81

1 10000

3—5min

1cm

0.1



44

80
2d 0.1mg/kg

3 280 350g

CaZ* 0,

30—32 0,

19
5 20min
0.02ml
2—bmin
20min
0.04ml

02
2 Ca2*
caCl, 0.24g/L

3

0.06g/L

19

2—3
1 10000

10min

0.75 /min

0.08—0.15mm/s



HCG
HCG
HCG
HCG
HCG
HCG
1
0.5—1min
2 1
2min
5min
1
2
15
4—6min
3
8

HCG

82

2.5¢cm

5min

HCG

HCG

HCG

HCG
HCG
1 1
2min
2_
HCG



100g

5ml
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A N M T O



84

Na*



N



1—5 30
30—50
8.7%
205 /min 1
2_.8L/min

7—10
23—304
0.11L/ kg

- min



110mmHg 95—130
80mmHg 60—90
- 4.8 3.4—7.2

10.5s
5.7 /mm®  4.5—7.0
11.9g/100ml 8—15
41.5m1/100ml 33—50
61py m® 60—68

7.5um 6.5—7.5
0.34—0.32%Nacl
0.46—0.42%NaCl

1h1—3mm
2h2.5 4mm
24h25—50mm
1.090
28+ 2 /mmd
7.5—10.2s

9 /mm¥ 6—13
4.1 /mm® 2.5—6.0

35—52
0.18 /mm® 0—0.4
—3.5
0.45 /mm® 0.15—0.75
2—7
3.5 /mm® 2.0—5.6
—b52
0.725 /mm® 0.3—1.3
12
PH 7.35 7.21—7.57
4.0 3.5—4.5
1.050

51 /min 38—60
21.0m1 19.3—24.6
1.07L3/min 0.80—1.41
40—100ml/d
PH 8.0
1.010—1.015
14.2—56.7g/d
39.0  38.5—39.7

70

10—20 8—10

46%

2% 0.5

S%

39% 30

8% 4—



14—21

58—63 60 2—8
20—30 10
5—6 42 20 6
2 8 4 22 6 2
8 6 1—2
2—3
2—3 4—5
10—12
5.6—8.3%
120 /min 100—130
2.3L/min  0.12L/ kg - min

112mmHg 95—136
56mmHg 43—66
149mmHg 108—189
100mmHg 75—122
- 7.05 6.0—8.0
10.85 8.9—12.8
6.3 /mm3  4.5—8.0 14 .8g/100ml 11
—18
45.5m1/100ml 38—53
66u m® 59—68
7.0um 6.2—8.0
0.36—0.35%NaCl
0.46—0.43%NaCl
1h2.0mm
2h4 _0mm
10h210mm
1.090
21.86+ 9.22 /mm?
6.5—9.0°
14.79+ 3.48 /mm3



8.2 /mm® 6.0—12.5

68% 62—380
0.6
5.1% 2—14
0.085
2.5
21% 10—28
0.65
5.2% 3—9
PH 7.36 7.31—7.42
4.6 3.8—5.5
1.059
18 /min 1137
320ml  251—432
5.21L/min 3.3—7.4
PH 6.1
1.020—1.050
65—400ml/d
38.5 37.5—39.7

10—12
60 3—6

6.2%
116  /min 110—140
0.33L/min  0.11L/ kg - min
118mmHg 88—142
70mmHg 56—85
- 6.05 3.0—9.5
8.0 /mm® 6.5—9.5
11.2g/100ml 7.0—15.5
40m1/100ml 28—52
57u m® 51—63
6.0um 5.0—7.0
0.5%NaCl
0.52%NaCl

63

8—10
60



1h4mm3
2h10mm
250 /mm3 100—500
7—20s
16.0 /mm® 9.0—24.0

9.5 /mm¥ 5.5—16.5

—82

0.85 /mm®* 0.2—2.5

—11

0.02 /mm® 0—0.1

0.5
5.0 /mm® 2—9

—7.0
PH 7.35 7.24—7.40
4.5 4.0—-5.0
1.054
26 /min 20—30
12.4ml
0.322m3/min
PH 7.5
1.020—1.040
20—30ml/kg
38.7 38.0—39.5

4—5 30 4—7

28—35

2.5—3.5d
14—17d
8—12d
1d
2d
3d

18g 20d 2169  140d
40ds 40d 2289 160d
80g 60d 240y 180d
1309 80d 250g  200d

31%
0.65 /mm®* 0.05—1.4

72d
40d

59.5%

5.4%

0.1%

44

2

0—

15—44

4%

1—1.5

0.5

3.5—4



1659 100d  290g  320d
1969 120d

12

7.4% 1328 /min 216—600
0.047L/min
129mmHg 88—184
9lmmHg 58—145
8.9 /mmd 7.2—9.6

14.8g/100ml 12—17.5
46m1/100ml 39—53
55u m® 52—58

7.0um 6.0—7.5
1h3mm
2h4  5mm
24h10mm
1.090

100—300 /mm3
14  /mm® 5—25

3.1 /mm®* 1.1—6.0 22% 9—34
0.3 /mm® 0—0.7 2.2% 0—6
0.1 /mm®* 0—0.2 0.5% 0—1.5
10.2  /mm® 7.0—16 73% 65—84
0.3 /mm®* 0—0.65 2.3% 0-5
PH 7.35 7.26—7.44

1.029—1.034
85.5 /min 66—114
0.86ml 0.60—1.25
0.073L%/min 0.05—0.101
10—15ml/d 509
39 38.5—39.5

2 35—55



45—60 2—2.5 4—5
4—9 2—12
60—90
1
ad
4d
5d
8d
10d
9—11d
13—15d
20d
21d
35d
2

49 10d 249  60d
89 20d 259 70d
149 30d 279  8od
189 40d 289  90d
229 50d 30g  100—120d

8.3%
600 /min 328—780
113mmHg 95—125
81mmHg 67—90

9.3 /mmg  7.7—12.5
14 .8g/100ml 10—19
41.5ml1/100ml
49y m3 48—51
6.0um
:1.090
157—260 /mm3
24—A40s
8.0 /mm® 4.0—12.0
2.0 /mm® 0.7—4.0
44
0.15 /mm® 0—0.5
0.05 /mm® 0—0.1

20—25
25—30

25.5% 12—

2% 0—5
0.5% 0—1



5.5 /mmd

0.3

0.15ml 0.09—0.23

0.024L/min 0.011—0.036

1—3mil/d
38 37—39

13-1
13 1

3—8.5

/mm3 0—1.3
163 /min 84—230

30

60—68

P oOMNWNIERBRE

100
150
200

750

S88EBERS

6.4%
280 /min 260—400

77mmHg 28—140

47mmHg 16—90

5.6 /mm®  4.5—7.0

14 _4g/100ml
42ml/100ml

11—16.5
(37—47

68%

54—85
4% 0—15
5—6
3—5
2.5—3 3



770 m  71—83

7.4um 7.0—7.5
0.31%NaCl
0.42%NaCl

1hl.5mm
2h3.0mm
24h20mm
1.090
116 /mmd
10.0 /mm3
4.2 /mm® 2.0—7.0 42% 22—50
0.4 /mm® 0.2—1.3 4% 2—12
0.07 /mm® 0—0.3 0.7% 0—2
4.9 /mm® 3.0—9.0 49% 37—64

0.43 /mm® 0.25—2.0 4.3% 3—13
pH 7.35 7.17—7.55

1.060

90 /min 69—104
1.8mI 1.0—3.9

0.16L%/min 0.10 0.38
15 75ml/d
38.6 37.8—39.5

10 2 4—5

38—40 14

10%
170 /min 141—244
105—145mmHg



3.2

/mm3

12.8g/100ml
42.3m1/100m]

131.0p md
6.9—13.2u m
5—6.4 /mmd
23—34s
1.4—3.4 /mm3
26—41%
1.5—6.8%
2—10.5%
0—32.1%
27—58%
3.0%
25—30 /min
4.5—5.2ml
170g/d
120km/d
36—20km
60—70km/d
3
6
77—91
4
10 3 4—6
3 3—5
2—4



5%
36—70 /min

30—60mmHg
4_87 /mm3  400—600
8g/100ml
0.13%NaCl
1.090
3—5 /mm3
5min
2.4 /mm3
1.040
1.029—1.034
1886 Ringersolution
4
0,
Locke
Tyrode 13 2
13 2 *
NaCl 6.5 9.0 8.0 65— 7.0 9.0
KCl 0.14 0.42 0.2 — —
CaCl, 0.12 0.24 0.2 — —
NaHCO, [0.20 0.1— 0.3 |1.0 — —
NaH,PO, |0.01 — 0.05 — —
MgCl, _ _ 0.1 _ _
2.0 1.0—2511.0 — —
1000ml




13 3 CaCl,
13 4
13 *
%
NaCl 20 325 45.0 40.0
KCI 10 1.1 1.2 2.0
CaCl, 10 1.2 2.4 2.0
NaH,PO, 1 1.0 — 2.0
MgCl, 5 — — 2.0
NaHCO, 5 4.0 2.0 20.0
2.0 10— 25 1.0
— 1000ml
ml
13 4 g/1000ml
Van' tHoff
NaCl | 235 27.0 26.0 12.0 1.2 2.2
KCl 0.75 — 0.85 0.1 0.15 0.03
CCl, | 117 1.0 1.50 1.63 0.125 0.016
MgCl,| 50 3.4 2.33 0.25 — —
MgsO,| — 12.1 — — — —
H,BO,| _ _ 055 _ _ _
NaOH| — — 0.02 — — —
NaHC — 5.0 — 0.2 — 0.03
03
Na,SO,| 40 — 3.0 — — —




;(:aX:X1+X2+X3 X,
n n
> sigma
X1 X2 X3 Xn
n
> X
S SD S
_ (@x°
o 2 2 2.
g @7 aX Ty .
n-1 n-1
X
X
S (X X)?
n
> X
Sx ?
1 12 13 5
13 5 12
X mmHg X2
1 118 13 924
2 112 14 834
3 98 9 609
4 14 10 816
5 122 14 834
6 122 14 834
7 118 13 924
8 140 19 600
9 0] 8 100
10 104 10 816
11 122 14 834
12 112 12 544
12 n 1 362 Y x 156 524 Yy x?




x=A" =292 1135
n
2
[o] X 2
- B0 igrppy. 1392
S= n 12
n-1 12-1
_ \/165,524 - 164,587 _ JTT6 21327
11
x+ S=1135+ 13.27 mmHg
S, SE
d
d, =—
* In
dy
5
n
3
n
2 12 S
S 1327
S)_( - = =
Jn

X+ S, =1135+ 383(mmHg)

13.27



t t
P 113 ”
: "ot 6
13—6 t
t0.05 0.05
> 1005 | < 005 Y
> 1001 | < 001 %
t
t
1
t
t:|X_n1 5
X
X
IS¢
3
114mmHg 108+
12mmHg X+ s
t
1
2 t
X =108mmHg
M =114mmHg
n=12
S=12mmHg
4 X



S 12
SX = ﬁ = E = 346mmHg
5 t
tZIX- nf_hos-114_ 6 _
SX 346 346
3 P
n n n 1 12 1 11
t ooy = 2.201
t=1.74 t; o5 P 0.05
4 12
2
(=%-d 6
SX
X
0
SX
4 9 13
13—7 9 mmHg
X )<2
1 9% 88 -8 64
2 98 98 0 0
3 112 108 -4 16
4 108 102 -6 36
5 102 98 -4 16
6 98 100 +2 4
7 100 9 -4 16
8 106 102 -4 16
9 80 72 -8 64
— — -36 232
1
o] X i
X:aT:—: - 4mmHg



. @ x)? - 36)2
a X2 _ u
_ n _ 9 _
S= — = o1 = 3317mmHg
4
S 3317
S, =—— = —— =11ImmHg
n 9
5 t
x- 0 _|- 4
= =-— =2 1
t 11y - 618
n =n-1=8 t
t, 5=2.306 t, ;;=3.355
t=3.618 t,,, P 0.05
3
t
t= |71' 72|
Syl' X2
Xl X2
SX, - X, X, - X,
an +n,0
X, - X, =,[Ste——2+
n N, @
n
S2.
[o] [}
(@ x,)’ (@a x,)?
[A % - = =1+ [A X - ]
S = - :
c n,+n,-2
5 24 17
60—69 14

13 8 17



13 8 17

X x21 X2 xzz
1 5.15 26.83 1 2.90 8.41
2 8.79 77.26 2 5.41 2027
3 3.14 9.86 3 5.48 30.03
4 6.64 4173 4 4.60 21.16
5 3.72 13.84 5 4.03 16.24
6 6.64 44.09 6 5.10 26.01
7 401 16.08 7 5.92 35.05
8 5.60 31.36 8 4.97 24.70
9 457 20.88 9 4.24 17.98
10 7.71 50.44 10 4.36 19.01
11 4.99 24.90 11 2.72 7.40
12 2.37 5,62
13 2.09 437
14 7.10 50.41
5 x=60.99 | ¥ x°;=366.27 2 %=6129 | 3 x%,=20566
2 2
(36627 - {0999, 120566 (6129
@ = 11 14 241
¢ 11+14- 2
S 8
o 11+14_
X, - %, _1/2.41(11, ;) =063
.
s o120
11 14
t= o0& 182
=11+14-2=23
t 13—9 1ty g525=2-069
t s
P 0.05
P 0.05
3 t— 3

13—9t

17—

BASIC



n'" loos loo1 n" Yhos loo1 N Yhos loo1
1 12706 63657 17 2110 2.898 45 2014 2690
2 4303 9925 18 2101 2878 50 2008 2678
3 3182 5841 19 2093 2861 60 2000 2.660
4 2776 4.604 20 2086 2845 70 1994 2648
5 2571 4.032 21 2080 2831 80 1990 2.638
6 2447 3707 22 2074 2819 90 1987 2632
7 2365 3499 23 2069 2.807 100 1.984 2.626
8 2306 3.35 24 2064 2797 125 1979 2616
9 2262 3250 25 2060 2.787 150 1.976 2.609
10 2228 3.169 26 2056 2779 200 1972 2601
11 2201 3.106 27 2052 2771 300 1968 2592
12 2179 3.055 28 2048 2763 400 1966 2.588
13 2160 3.012 29 2045 2.756 500 1965 2586
14 2145 2977 30 2042 2750 1000 1962 2581
15 2131 2947 3B 2030 2724 o 1960 2576
16 2120 2921 40 2021 2704
1 4 5
X=) X
Y=y x?
M | =X
S 1 =S
E | =&
c=g
B=SX, X,
2 A=0 1I=1
5 PRINT

10 PRINT* IF YOU WANT TO GET MEAN  STANDARD DEVIATION AN DSTA NDARD
ERROR PLEASE INPUT1.”

11 PRINT

12 PRINT® 1F YOU WANT TO GETTHE T-TEST FOR MEAN BETWEEN POPULATION
AND SAMPLE PLEASE 1 NPUT 2”

13 PRINT

14 PRINT* IF YOU WANT TO GET THE T  TEST FOR MEAN OF PAIRED DATA
PLEASE INPUT 3”

15 PRINT

16 PRINT* IF YOU WANT TO GET THE T—TEST FOR MEAN OF GROUPED DATA

PLEASE INPUT 4”
17 PRINT



20 INPUT* INPUT NUMBER” E

30 IF E 4 THEN PRINT® INPUT NUMBER ERROR PLEASE REENTER.”
GOTO 17

35 PRINT

40 ON E GOTO 45 50 100 200

45 A=1 GOTO 60

50 INPUT® U=" U

60 PRINT® ENTER NUMBER OF OBSERV ATIONS”

65 INPUT N

70 IFN 10 THEN DIMY 1 N

74 GOSUB 500

75 IF A=1 THEN 900

76T ABS M 1 u /E 1

78 GOTO 900

100 PRINT* ENTER NUMBER OF PAIRS”
107 INPUT N

110 IF N 10 THEN DIMY Z N

115 GOSUB 300

120 GOSUB 550

125 T=ABS M | /E 1

130 GOTO 900

200 FOR I1=1 TO 2

201 PRINT* ENTER NUMBER OF OBSER VATIONS”
202 PRINT® FOR GROUP ™ 1

203 INPUT N 1

204 NEXT 1

205 IF N 1 N 2 ANDN 1 10THENDIMY 2 N 1
210 IF N 2 10 THEN DIMY 2 N 2

215 PRINT

220 FOR I1=1 TO 2

225 N=N 1

227 PRINT*® GROUP ™ |

230 GOSUB 500

232 PRINT235 G | =Y-X*X/N |

240 NEXT

25 C= G 1 +G 2 / N 1 N 2 -2
250 B=SQR C* N 1 +N 2 / N 1 *N 2
255 T=ABS M 1 -M 2 /B

260 FORI=1T02

265 PRINT® GROUP " I “ MEAN=" M 1

270 PRINT® GROUP " I “ STANDARDDEVIATION=" S 1
275 PRINT® GROUP " I “ STANDARDERROR=" E I

280 NEXTI

290 GOT01000



300 FORJ=1TON

335 PRINT* ENTERX YPAIR " J * 7
340 INPUTY 1 J Y 2
360 X=X+ Y 1 J -Y 2
370 Y=Y+ Y 1 J -Y 2
380 NEXTJ

390 RETURN

500 X=0 Y=0

505 FORJ=1TON

508 PRINT* ENTEROBSERVATION » J * ”
510 INPUTY 1 J

520 X=X+Y 1 J

530 Y=Y+Y 1 J *Y 1 J

540 NEXTJ

550 M1 =X/N

560 S 1 =SQR  Y-X*X/N / N-1
570E I =S 1 /SQR N

580 RETURN

900 PRINT

910 PRINT* MEAN=" M I

920 PRINT* STANDARDDEVIATION=" S |
930 PRINT* STANDARDERROR=" E I

940 IFA=1THEN1010

1000 PRINT* T=" T

1010 END

(G SR

*Y 1J -Y 2

TRUN

IF YOU WANT TO GET MEAN STANDARD DEVIATION AND STANDARD ERROR
PLEASE INPUTL.

IF YOU WANT TO GET THE T-TEST FOR MEAN BETWEEN POPULATION AND
SAMPLE PLEASE INPUT 2.

IF YOU WANT TO GET THE T-TEST FOR MEAN OF PAIRED DATA  PLEASE INPUT

IF YOU WANT TO GET THE T-TEST FOR MEAN OF GROUPED DATA  PLEASE INPUT

INPUTNUMBERL1.

ENTERNUMBEROFOBSERVATIONS 12
ENTEROBSERVATION 1 118
ENTEROBSERVATION 2 112
ENTEROBSERVATION 3 98
ENTEROBSERVATION#4 104



ENTEROBSERVATION 5 122.
ENTEROBSERVATION 6 122
ENTEROBSERVATION 7 118
ENTEROBSERVATION 8 140
ENTEROBSERVATION 9 90

ENTEROBSERVATION 10 104
ENTEROBSERVATION 11 122
ENTEROBSERVATION 12 112

MEAN=113.5
STANDARDDEVIATION=13.269925
STANDARDERROR=3.83069738

JRUN

IF YOU WANT TO GET MEAN STANDARD DEVIATION AND STANDARD ERROR
PLEASE INPUTL. IF YOU WANT TO GET THE T-TEST FOR MEAN BETWEEN POPULAT ION
AND SAMPLE PLEASE INPUT2.

IF YOU WANT TO GET THE T-TEST FOR MEAN OF PAIRED DATA PLEASE INPUTS.

IF YOU WANT TO GET THE T-TEST FOR MEAN OF GROUPED DATA PLEASE
INPUTA4.

INPUT NUMBER 3

ENTERNUMBEROFPAIRS 9
ENTERX YPAIR 1 96 88

ENTERX YPAIR 2 98 98

ENTERX YPAIR 3 112 108
ENTERX YPAIR 4 108 102
ENTERX YPAIR 5 102 98
ENTERX YPAIR 6 98 100
ENTERX YPAIR 7 100 96
ENTERX YPAIR 8 106 102
ENTERX YPAIR 9 80 72

MEAN=4
STANDARDDEVIATION=3.31662479
STANDARDERROR=1.1055416
T=3.61813614

JRUN
I FYOUWANTTOGETMEAN STANDARDDEV IAT IONANDSTANDARDERROR



PLEASEINPUT1.
IFYOUWANTTOGETTHET-TESTFORMEANBETWEENPOPULAT IONANDSAMPLE
PLEASEINPUT2.
IFYOUWANTTOGETTHET-TESTFORMEANOFPAIREDDATA
PLEASEINPUT3. IFYOUWANTTOGETTHET-TESTFORMEANOFGROUPEDDATA
PLEASEINPUT4 . INPUTNUMBER4

ENTERNUMBEROFOBS
ERVATIONS

FORGROUP 1 11
ENTERNUMBEROFOBSERVATIONS
FORGROUP 2 14

GROUP 1

ENTEROBSERVATION 1?5 15
ENTEROBSERVATION 2?8.79

ENTEROBSERVATION 373.14

ENTEROBSERVATION 476.64

ENTEROBSERVATION 573.72

ENTEROBSERVATION 676.64

ENTEROBSERVATION 7?4.01

ENTEROBSERVATION 87?5.60

ENTEROBSERVATION 9?4.57

ENTEROBSERVATION 1077.71
ENTEROBSERVATION 1174.99

GROUP 2

ENTEROBSERVATION 1?2.90

ENTEROBSERVATION 275.41

ENTEROBSERVATION 3?5.48

ENTEROBSERVATION 4?4.60

ENTEROBSERVATION  5?4.03

ENTEROBSERVATION 675.10

ENTEROBSERVATION 7?5.92

ENTEROBSERVATION 87?4.97

ENTEROBSERVATION 974.24

ENTEROBSERVATION 1074.36
ENTEROBSERVATION 1172.72
ENTEROBSERVATION 1272.37
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